OOAD 7 ==




rE
ox!
2
o2

Stage 2040 category test

W Stage adodoty traceability



isual Paradigm Online Diagrams Express Edition

Stage 2040

Main
private int : CurrentMode
Main()

SwitchMode()
ButtonEvent()
start()
display()

Alarm

StopWatch

CycleTimer

¥
TimeKeeping

Timer

WorldTime

private int [] : mon, day, hour, min
private int : settingunit

private int : status

private int : alarmindex

private int : hour, min, second
private int : status
private int isStopwatchActivated

Alarm()

getstatus() : int
getlsAlarmOn() : int
ShowAlarm : JPanel
changeElement()
IncreseElement()
activateAlarm()
startsetting()

endsetting()
checkAlarm(TimeKeeping)

StopWatch

getStatus() : int
getlsStopwatchActivated : int
ShowStopwatch() : JPanel
resetStopwatch()
countStopwatch()
StartandStop()

private int : hour, min, second
private int : checkhour
private int : checkmin

private int : checksecond
private int : settingunit
private int : status

private int : isCycleTimerOn

private int : year, mon, day, hour, min, second
private int : settingunit

private int : status

private int[] : dayarr

private int : hour, min, second
private int : settingunit

private int : isTimerActiavted
private int : status

CycleTimer()

getStatus() : int
ShowCycleTimer() : JPanel
changeElement()
IncreaseElement()
startSetting()

endSetting()
checkCycleTimer()
activateCycleTimer({)
resetCycleTimer()

TimeKeeping()
getstatus() : int
getyear() : int
getmonth() : int
getdate() : int
gethour() : int
getminute() : int
getSecond() : int
ShowTimeKeeping() : JPanel
changeElement()
IncreseElement()
startsetting()
endsetting()
counttimed()

Timer()

getStatus() :int
getlsTimerActivated() : int
ShowTimer() : JPanel
changeElement()
IncreaseElement()
startSetting()
endSetting()
counttimer()
checkTimer()
resetTimer()
StartandStop()

private int : year, mon, day, hour, min, second
private int[] : dayarr

private int : tkyear

private int : tkmon

private int : tkday

private int : tkhour

private int : tkmin

private int : tksecond

private int : setcountry

private int : status

Worldtime()

getStatus() : int
ShowWorldtime() : JPanel
ChangeElement()
startSetting()

endSetting()

applywt()

| getdatefiomTimekeeping(Tmekeeping)
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Stage 2040 - Cycle Timer
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Stage 2040 - Stopwatch

'v'is;% Paradigm OplfRangeElement s £qitof StarandStop countStopWatch ResetStopWaich
Actor | : :
I I
ButtonA  P1] , ,
| I
ButtanC bIj |
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Stage 2040 - Timer
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Stage 2040 - World Time
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Traceability — Method & Class

SwitchMode
ButtonEvent
start
display
ShowTimeKeeping
getstatus
getyear
getmonth
getdate
gethour
getminute
getSecond
changeElement
IncreaseElement
startsetting
endsetting
counttime
getstatus
showAlarm
getlsAlarmOn
changeElement
IncreaseElement
activateAlarm
startSetting
endsetting
checkAlarm
getlsTimerActivate
getstatus
showTimer

changeElement
increaseElement
startSetting
endsetting
counttimer
checkTimer
resetTimer
StartandStop

getlsStopwatchActivated

getStatus
showStopWatch
resetStopWatch
countStopWatch
StartandStop
showCycleTimer
getStatus
changeElement
increaseElement
startSetting
endSetting
checkCycleTimer
activateCycleTimer
resetCycleTimer
showWorldTime
getStatus
changeElement
startSetting
endSetting

applywt

getdatefromTimekeeping




2041. Define Real Use Cases

Use case Activate Buzzer

Actor None

Purpose (As in the the business use case)
Overview (As in the the business use case)
Type Hidden

Cross Reference

Pre-Requisites

Typical Courses of Event (A) : Actor, (S) : System
1. (S) Buzzer/} £ 40| M S 2ICH

Alternative Courses of Event N/A

Changes BuzzerE &2 =0| Ot 2H = &=517| 2
780k ALK £ AL




2041. Define Real Use Cases

Use case Select Worldtime

Actor User

Purpose (As in the the business use case)
Overview (As in the the business use case)
Type Evident

Cross Reference

Pre-Requisites

AKX 2 Ef7F WordlItime mode O| 1 C| Z E
2} 0| O OF L, Timekeeping mode Ol Al A| 7t
278c 0| = 04 OF Lt

Typical Courses of Event

(A) Actor, (S) : System
(VAFEXIZL B E HAS E9f 31X 2 E & wolrdtime
mode = HZASICE

2. (U)AFEXE7tButton2E =12 Worldtime 2 = 2| M| A A2t

ME 7| SS Ao}

3. (UAHEXI7} Button1E FEH M| A A|ZHS ME4 & 5= QUCE

(WAFE X7t Button2E =2 M A A2t 7| 52 S=3tCt

5. (S)AAHEIO| DXt o 2 MEREI YA A|ZHS 7| E2 2 BX
A ZHOIl A +-510] g2 M Z SRR (R XHA| 2H2 uTC+2)

»

Alternative Courses of Event

N/A

Changes

APH| = AL




2041. Define Real Use Cases

Use case Show Dynamic display mode
Actor User

Purpose (As in the the business use case)
Overview (As in the the business use case)
Type Hidden

Cross Reference

Pre-Requisites

SAXY 2 EH 7} dynamic display mode O| O OFSHLL,

Typical Courses of Event

(A) : Actor, (S) : System
1. (S) Al 2 & 0| bunamic display mode 2|

At S S

Alternative Courses of Event

N/A

Exceptional Courses of Event

A M = AL




2041. Define Real Use Cases

Use case CountTimer

Actor None

Purpose (As in the the business use case)
Overview (As in the the business use case)
Type Hidden

Cross Reference

Pre-Requisites

AR 2 E7F Timer O] Of S} 11 2 S 0| O OF HLf,

Typical Courses of Event

(A) : Actor, (S) : System
1. (S) Al ZHO| X| ol k2t Timer2| AlZHS
daA| 7o

Alternative Courses of Event

N/A

CHange

4= OFX| 20| CheckTimerS &5+ Timer?t
=L+H H|2Hd 35 2 E 2 HHR D buzzerE
=2|A oLt




2041. BruteForce

TestCase 2/3/¢0[ 2} oA 2k S =0 S M| CFS0f| LetOof ot =
0| SHEA Lt2E7t2

Expected Output
2 1280

12182, H2 9999

7tet 42 0H O 2 HEHRICH

oy 2t o 1N

=204 M ne
2 Nmetrjo

Test Output 'H'o| 47 0| EXYSHA| ROt H|
AE 2Ils
— ==/l

Solution ‘o] 4™ 2 FIISHLE,




2041. BruteForce
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2041

. BruteForce

TestCase

HERE MAAZES 7| =22 MA| AlZH0] B S &l =7F2

Expected Output

UTC+30| MERE|O] S I} H4XY
A|Z+C] Al Q| Z+0] +10]| &|OfOf St
Ct

Test Output Worldtime 7| 0| =X SHXA| 84
OtHAE =7l
Solution Worldtime 7| &2 7|5} QLCL.




2041.

BruteForce

TestCase

EtO|H 7| 50| §loj 2 B2 EtO|M 7t 22| =72

Expected Output

EfO|H 7| 50| §LOfX|H EfO|H 7t
=2|X| E=H

Test Output ElO|M 7| s H|g-d3t7l 2715
M HAE 2715
Solution EfO|H 7t Z2E | H[ZHI 2SI buzzeE 22| =

Checktime&t+=5 F 7SI ULt




2041

. BruteForce

TestCase

g u =t
2 BA HEE =7

StopWatchl| =/ 7t Z|CHZH0| =&MU S M A= A

23

o
M

Expected Output

592 59X 0| Al 17t B 7tSHH A
EFQIX| A|Zt2 0B 0X 2 X 7|3}
ZICH

Test Output

591 590 Al 1A| 02 0EXE
Hf & CF

Solution

StopwatchOfl A[Zt &{|$H0| Sl= A2 2| =3t At 0|2}

O,
of AL,




2041. BruteForce
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2041.

BruteForce

TestCase

2EEe AT OFX| 9 LEOM ChE EE HES
B0l of @A XMEa|st=7t?

—
L=

rir

Expected Output

2ot LT MM LS 20 EC}

Test Output of27hel & 7|S0| EXMHA| GOt HIAE =7F
Solution ZES H a7i K| 28 = UA=F +FOH ALk




2041. BruteForce
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Static Analysis - Vulnerability

Explicitly declare the visibility for “timerOn". Why is this an issue?

ﬁ Vulnerability = Minor + ) Open~ Mot assigned + 5min effort Comment

Explicitly declare the visibility for " StopwatchOn™. Why is this an issue?
B Vulnerahility ~ Minor + ) Open ~ Mot assigned » 5min effiort Comment

Explicitly declare the visibility for "CycleTimerOn". Why is this an issus?
G Vulnerability » Minor + (O Open ~ MNotassigned ~ 5min effort Comment

Explicitly declare the visibility for "CurrentMode”. Why is this an issue?

& Vulnerahility ~ Minor + & Open~ Mot assigned » 5min effort Comment

Explicitly declare the visibility for "buttonFont”. Why is this an issue?
G Vulnerability » Minor + (O Open~ Notassigned = 5min effort Comment

Explicitly declare the visibility for " ScreenFont1”. Why is this an issue?

E Vulnerahility = Minor » ) Open ~ Mot assigned » 5min effort Comment

Explicitly declare the visibility for " ScreenFont2". Why is this an issue?

ﬁ Vulnerahility « Minor + ) Open~ Mot assigned » 5min effot Comment

Explicitly declare the visibility for "frame”. Why is this an issue?

E Vulnerahility = Minor + ) Open~ Mot assigned » 5Smin effort Comment

Main2} Z} class2| HH H==0| 2 K| SHAE
x7|’°|’~\ = L|CF.

1 P30 M MainOf| A 2t Sef A2 B~
HI2 M 25t= AF2O| %ﬁ%tﬂ O|E sl &5t7|
213l getyear,getmonth,..,getstatuss 2|

R H==0| gt 2 Btelot= HAEE
le-ol-)\}klzl L|CF.



Static Analysis — bug(URF

UNREAD

FIELD)

Unread field: Main.CycleTimerOn Why is this an issue?

X¥ Bug~ @ Major = O Open - Mot assigned = 30min effort

Comment

Unread field: Main.StopwatchOn Why is this an issue?

¥k Bug~ @ Major~ O Open ~ Not assigned + 30min effort

Unread field: Main.timerOn Why is this an issua?

¥¥ Bug~ @ Major = O Open = Not assigned = 30min effort

Unread field: Main.ScreenFont1 Why is this an issus?

¥¥ Bug~ @ Major = O Open = Not assigned = 30min effort

Unread field: TimeKeeping.year Why is this an issue?

¥k Bug~ @ Major~ O Open ~ Not assigned + 30min effort

Unread field: Alarm.year Why is this an issue?

¥¥ Bug~ @ Major= O Open = Mot assigned v 30min effort

Unread field: Stopwatch.toolkit Why is this an issue?

¥¥ Bug~ @ Major = O Open = Not assigned = 30min effort

Unread field: Stopwatch.Day ‘“Why is this an issue?
X¥ Bug~ @ Major = O Open - Mot assigned = 30min effort

Comment

Comment

Comment

Comment

Comment

Comment

Comment
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http://ctip.s5kywa1k3r.codes:9000/project/issues?id=SMA_A7&types=BUG&severities=MAJOR&rules=findbugs%3AURF_UNREAD_FIELD&resolved=false

Static Analysis — Code smell

Explicitly import the specific classes needed. Why is this an issue?

@ Code Smell » @ Critical = Open » Mot assigned » 5min effort Comment

Explicitly import the specific classes needed. Why is this an issue?

@ Code Smell > @ Critical = Open = Mot assigned = 5min effort Comment

Explicitly import the specific classes needed. why is this an issue?

@ Code Smell» @ Critical = Open » Mot assigned ~ 5min effort Comment

7K B= SeHAE BFH2Z LY o Seff &
CHE TH7[X| o E2fA7H0f| S=0| Bdle + AL
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Static Analysis — Code smell

switch{CurrentMode)

Add a default case to this switch. Why is this an issue? T days ago = LG0 G

@& Code Smell » ¢ Critical = Cpen = Mot assigned » 5min effort Comment W MNotags -

0= switch2 0| A BH==9| gt & Lot
casel| 410| EXYSIX| A2 HLRE </l
dafault& 7St RAL.
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